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1 |ENEHE RERAZARRA I AE G 10000 2000
2 |#EF S S HTAEBDA RN =R n e 5000 2000
3 | =MD K E R T A A TR 8] 10000 2000
4 |RIEAKERTARNS)=ZATEK] 6 5000 2000
5 |#@@i% AT EAA RN = EAEE SN 5] 2000 2000
6 |ANAHBKERNZAARNSZT/E 5000 2000
7 |A@EIFE S AT ERA RN 5000 2000
8 |AEIEAKIFART A RN 8 ZHKE RS )5 5000 2000
9 | =T EHRALT A RS 2000 2000
10 [#@#47 % 5 8 W R A A R 8] E 5 3] 2000 2000
1 (A2 H = A TR ST 8] =B Al 278 3F 2000 2000
12 | =9 3R RABT A R 4] 2000 2000
13 |#2 k5 R AT A A R ) 2000 2000
14 |Z 95T %7 5% A R 3) 2000 /
15 A& B & & B TR 8] =3 5 8] 2000 /
16 A& (Z8) REZM AR 3 10000 /
17 |ZAT AT B L E A RN 8 10000 /
18 | L& 2 E IR &% 1A TR 8] =8 5 4] 10000 /
19 (=& KIB/EA R 3 2000 /
20 |=EAAE B BLAT B JE A TR 3] 2000 /
21 (=97 fa AR BB JE A TR 8] 5000 /
22 (=R LIEJE A RN 8] 5000 /
23 (=T AR E ARAE 2000 /
pZ N R L B R B A 10000 /
25 | = HHBAALIE JE A TR ) 5000 /
26 | =B R LIBJE A [ 3 2000 /
27 |=HEGLIBJEE A R 5] 5000 /
28 (=T B BLIB B E A R A 5000 /




29 | ZHARAMRIE & A RN 8] 10000 /
30 (= # T PG IRJE A PR FTAE LN 8 10000 /
31 |=PAF 2EWKIEE A RS 10000 /
32 | =9 B R KB E A RN E) 10000 /
33 |=BAK & AREJE A RN 3] 2000 /
34 | ZBHWE & A TR 8 2000 /
35 |=BAT AR $IEE A R E] 2000 /




